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Questions

An eagle, if pressed for food, might ......... a small baby that had been left in the open
unprotected, but such an opportunity must occur very rarely.

What is true of the following sentence? "When, crows flew."

Mr. James cannot speak English he can speak Mandarin very well.

The people screamed
roadside stall.

ran in different directions when the lorry crashed into the

"l like James. He is quick on the.......... You only have to tell that guy how to do something
once. He understands the importance of something and how it works very quickly," Jack said
to his assistant

Animals and humans use the evaporation of water to ......... heat that is absorbed from the
sun or generated by metabolic activity and exercise

An employee with 400 accrued sick leave hours at the end of the fiscal year will ......... into
the new fiscal year 360 hours of sick leave and 8 hours of additional annual leave.

America has been called the affluent society because of its abundance of goods and
services.

Which suffix can correctly be added to the root word 'electric’' to make a new word?

Which is the correct spelling?

Answers Choice

A
B.
C.
D.

A.

carry out
carry on with
carry off
carry through

It is a compound-complex

sentence

B.

C.
D.

It is a compound sentence

. It is a sentence fragment
. It is a comma splice

. because
. but

. since

. while

. either
L if
.and

. but

. intake

. uptake

. second take
. take

C
D
A
B
C
D
A
B
C
D
A
B
C
D
A. carry away
B. carry out

C.
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B

carry off

. carry through

. carry out
. carry off
. carry over
.carry on

. Middle-class
. Divided

. Prosperous
. Generous

. ed
.ian
. sion
-y

coriddor
Corridor
Corridor
coridor



